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Which one of the following equipments is NOT grouped in evacuation equipment?

(A)Indicating equipment. (B Emergency broadcasting equipment.

(©Fire escape equipment. (D)Emergency lighting equipment.

These hazardous substances are most often released as a result of transportation accidents or __ chemical
accidents in plants.

(Alead to (B)for the reason that ©because (D)due to

What kind of following symptom could Heimlich Maneuver treat for?

(A)Spinal cord injury. (B)Cardiac arrest. (©)Choke. (D)Asthma.

Which term of following is most effective in sensing the larger smoke particles generated by a smoldering,

slow-burning fire?

(A lonization detectors. (BIResidential heat detectors.

(©Fixed heat detectors. (D)Photoelectric smoke detectors.

Which one of the following equipments is NOT grouped in “necessary equipment for fire rescue”?
(A)Automatic alarm equipment for gas leakage. (B)Connecting water-delivery pipe.

(©Fire water pool. (D)\Wireless communication auxiliary equipment.
What is the typical product of incomplete combustion?

(A)Water vapor. (B)Hydrocarbon fuel. (©)Carbon dioxide. (D)Carbon monoxide.
In a tunnel fire, a(n) system is very useful to move smoke outwards.

(Atraffic management system (Blemergency response team

(©ventilation system (D)sprinkler system

_ can travel several miles from their source, striking with little or no warning at avalanche speeds, growing in

size as they pick up trees and boulders, and be caused by land mismanagement, particularly in mountain, and
canyon regions.

(A)Drought B Flood ©Mudslide (D)Hurricane

Be aware of possible _ if you live in coastal areas. This catastrophic event is also known as seismic or tidal
waves. When local authorities issue the disaster warning, assume that a series of dangerous waves is on the way.
(Atsunami (Blearthquake ©downpour (Dlandslide

According to Regulations for Emergency Medical Services, which patient is NOT included?

(A)Anyone who falls down on the road due to injury or sickness.

(B)Any pregnant woman who is ready for childbirth.

(©Anyone who donates blood or organ.

(D)Anyone who is in urgent need of medical care due to disaster.

Which kind of fire extinguishing equipment is NOT included in “Standards for Installation of Fire Safety
Equipments Based on Use and Occupancy”?

& Indoor fire hydrant. (B)Automatic sprinkler system.

(©Carbon dioxide fire extinguishing equipment. (D)Halon fire extinguishing equipment.

_____is defined as the initiation of fire by chemical process inherent in the material without the aid of an initiating
energy source.

(A Autoignition (B)Conflagration ©Pyrolysis (D)Incomplete combustion
is the process in which the perimeter of a fire grows.
(A)lgnition (B)Flashover (©)Flame spread (D)Flashpoint

The flow is caused by the pressure difference across the compartment opening. At some height above a given
reference height, the pressure difference will be zero. Which one of following is this term likely to be called?
(A)Stack effect. (B)Neutral plane. ©Ventilation -controlled fire.  (DVent mass flow.
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40 According to fire dynamics, which of the following effect shall walls and corners cause in a compartment fire?
(ANo effect.
®Primarily attributable to convection.
(©Reduce the amount of entrained air available to the fire plume.
(D)Decrease radiation available to the fire plume.

41 A house is full of wood, and the area of the house is 100 m?. The effective combustion heat of wood is 14 kd/g. The
weight of wood in this house is 200 kg. Please calculate the fire load density (in MJ/m®) in this house.
414 (814000 ©28 (028000

There are four basic types of automatic sprinkler systems in Taiwan, such as automatic wet pipe sprinkler system,
automatic dry pipe sprinkler system, deluge system, and pre-action system. The automatic wet pipe sprinkler system is the

most __ 42  type because it is permanently charged with water, meaning that it is always ready for a fire.
When the liquid-filled bulb of the sprinkler reaches its predetermined temperature, it activates and water flows out of the

orifice toward the _ 43 , causing the water to finely spray on the burning combustibles. A sprinkler’s _ 44 is
determined in plunge tests with a uniform gas flow of constant temperature and velocity and can be used to predict the
sprinkler’s activation time in a fire environment.

42  (Modd (Blexceptional ©prevalent (D)rare
43  (ANozzle (B)sprinkler standpipe ©)check valve (D)deflector
44 (Aresponse time index (Bidischarge pressure ©flow rate (DK-factor

When you travel and stay in a hotel, it is important to become familiar with your surroundings. The following fire
safety _ 45  are useful to assist you in preparing for traveling. First, when making your _ 46 , ask if the hotel or
motel has smoke alarms and an automatic fire sprinkler system. Second, when traveling, take a flashlight with you. Third,
read the _ 47  carefully. If one is not posted in your room, request one from the front desk. Finally, locate the two exits
nearest your room.

45  (A)proverbs ®hints (C)secrets (Ditips
46  (Aorder (Breservations (©)demands (D)consideration
47  (Atelephone directory (Bintroduction to all facilities

(©evacuation plan (D)guidelines to use elevators

Fire safety refers to precautions that are taken to prevent or reduce the likelihood of a fire that may result in death,
injury, or property damage, alert those in a structure to the presence of _ 48 in the event one occurs, better enable
those threatened by a fire to survive in and evacuate from affected areas, or to reduce the damage caused by a fire. Fire
safety measures include those that are planned during the construction of a building or implemented in structures that are
already standing, and those that __ 49  occupants of the building. _ 50 fire safety are referred to as fire hazards. A
fire hazard may include a situation that increases the likelihood a fire may start or may impede escape in the event a fire

occurs.
48 (A)an expected fire (B)a wanted fire (©an uncontrolled fire (D)a hated fire
49  (Aare taught to (Biteach ©taught (D)are teaching to

50 (AThreats to (B)Likelihood of (©Progress of (D)Enhancement
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